8.5 Day 1 Practice — Surface Area of Prisms and Cylinders Name KQ\J

Geometry 3313 Date / Period
Learning Targets:
a. I can apply the surface area formulas to solve problems involving prisms and cylinders

For 1-3: Use the rectangular prism and net to answer each question.
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3. What is the total surface area of the rectangular prism?
For 4 — 6: Use the triangular prism and net to answer each question. 20
4. How many lateral faces are there? 20\ 7 25 ft
3 A 20t
20 ft 25

5. Find the lateral area @ 7 ft D

2,0(56\ = 1120 ft* " i
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6. What is the total surface area of the triangular prism?
R=4(3)H) = A 4% + 1120 = [)2¥€ £t
IR = 16€
For 7 — 8: Use the cylinder and net to answer each question. 5cm 12 cm ,
7. What is the lateral area? :" &
o (12) = 1zom ¢
8. What is the total surface area of the cylinder? w
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Find the lateral and surface area for each prism or cylinder

9. Find the lateral area of the trapezoidal prism.

Pz2.xt €l vy = 18.9 s B o

LA=Ph=(189)(2) =]226.€ m* I
10. Find the area of the trapezoidal base.

B=2 (bobdh=3 (w1+ 2.8)(3)

B':. )6«35 2B=32-7'm7‘ m

11. Find the total surface area for the prism.

Sh= 72245+ 32,5 =1259.6 wm*

12. Find the lateral area of the cylinder. Keep your answer in terms of 7. 108

LA= P-h Ped9t =2%(5) =101

LA=(0DUD =) 1109 £ 1
13. Find the area of one circular base. Keep your answer in terms of 7. 2 ;:\

=TTt = M J257 #*|  2B=50n

14. Find the surface area of the cylinder. Keep your answer in terms of 7.

SAk= 2BR+LA= 507 110w :-Lﬁgj:;&:;J

A cylinder has afieight that is 2 times Jarger as @The lateral area of the cylinder
is 167 m2. Answer each question.
\§h=2r

15. What is the length of the cylinder’s radius?

LA= 27T h LA=HmT? 67 =4 o yert

LA = 27vE(20) DTS 7 T 7=t _ﬂ

16. What is the height of the cylinder?

h=Ze = @

17. What is the surface area of the cylinder? Keep your answer in terms of 7.

B=nr* 2B=8r SA= 2B+ LA
= Tr(2)" = g Hbr

Bt [sA=207 m® |




